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No.4 BBF 50m FEik=F T KL R 33.68

L INEE >

B & £ Fr & 2E KK B FH
R (he/kLigdb /6 3/ 6 35.90 10#% ( 0.72)
2 EfE BN LB DR /N6 3/ 5 36. 77 8% ( 0.67)
3 WEH AN DR NG 3/ 3 37.38 9%% ( 0.79)
4 Kl MEF JSSHERIR /6  3/1 37.54 7#% ( 0.65)
5 ik BEFN 777 e v /6 3/ 2 38. 37 8k ( 0.69)
6 f5H R AMVFLBRIBRAE 71N 3/ 7 38. 94 8% ( 0.74)
T ERE A VA EZAN 7= o = AR 3/ 8 39. 26 118 ( 0.71)
8 i R T7uaAHH /b 2/ 1 40.10 7#% ( 0.68)
9 EifE 5 T7uaAHHE /6 2/ 6 40. 82 6% ( 0.70)
10 Hmg Rk SAVYT /N5 2/ 3 40. 87 65% (0.77)
11 fefg K J S SiEH /NG 2/ 5 41.03 6#% ( 0.73)
12 == Foth = N1 NG 2/ 4 41.08 65% ( 0.67)
13 4 FE—AK IWARYSCEW B NS 2/ 8 41. 41 8#k ( 0.76)
14 oz BA JSSHERIR /16 2/ 2 41. 51 6% ( 0.63)
15 &H K3} Z i p M4t /N5 2/ 7 42.25 5#% ( 0.80)
16 WHEFEZIT AMVELERBRAE /N4 1/ 4 42. 89 7#% ( 0.75)
17 /NIFH—RR J S SiEH ! 1/ 5 44. 67 8#% ( 0.90)
18 fEfE 8 SAY—F /N4 1/ 2 44.75 8% ( 0.70)
19 fRH A AhvkLigdb o /4 1/ 6 46. 90 65% ( 0.84)
20 FHIL BR Zip¥E /N3 1/ 7 47.23 9#% ( 0.80)
21 HR Z i p Ak /N3 1/ 3 48.73 5%k ( 0.77)
22 Ve x RPRF AM/ALIRIRAE /N3 1/ 1 49. 95 5#% ( 0.76)

No.4 BF 50m FEjkFE & amE 29.93

L hEE >

B K £ T & PE KB B FH
IS B JFHE I 13 6/ 1 32.33 8% ( 0.74)
2 By RER ASU=APY 1 5/ 1 33.36 108% ( 0.71)
3 R B = A= Pl 1 4/ 5 33.58 10#% ( 0.76)
4 JHIL SR ZipWVE 3 4/ 2 33.59 % ( 0.69)
5 Al EM A2 a— LT 2 4/ 1 34.02 7#% ( 0.76)
6 FEH K I IEALE P2 4/ 03 34.12 8#% ( 0.66)
7 H KA HHESC H12 4/ 4 35.25 6% ( 0.70)
8 &k Wik Z i p #4E ==h] 4/ 8 35. 47 T#k (0.74)
9 FH A T7ueAAH 1 3/ 4 35.58 9%% ( 0.61)

No.4 BF 50m FEik&E 58 KLmE 2976

£ BRE >

B & £ T & FE KK B FE
1 HB KA o I HTALERE @l 6/ 5 29.52 108% ( 0.62)

- E T KT
2 HH OEAN J S SiEH =3 6/ 3 30.70 9% ( 0.64)
3 KR FH J S SiEH =2 6/ 2 31.07 9%% ( 0.60)
4 JEH  BAL WA A =8| 6/ 6 31.53 8%k ( 0.67)
5 ML KK S AHZ% =2 6/ 7 32.28 7#% ( 0.59)
6 ARZE %A NEXTHIE &1 5/ 3 32. 31 8#% ( 0.67)
T FREREF R o 2 )l =5l 6/ 8 32.66 #% ( 0.76)
8 ¥ K NEXTHE =2 5/ 5 33. 01 7#% ( 0.60)
9 HE L TS Sxp| =a| 4/ 6 33.15 T#% ( 0.73)
10 B5.  REE T/ b IVEEDL il 5/ 2 33.17 Tk (1 0.73)
11 JngE  Ber AMVFLERBRAE &L 5/ 1 33. 61 Tk ( 0.73)
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No.4 BBF 50m k= T K25 R 29.76
K @RE >
EG K 4 B 2E KK B

12 ZHE IR tNVERE w2 4/ T 34.29 6% ( 0.79)
No.4 BBF 50m Fik=F FiE

LK A—=T >
B K 4 B 2HE KK B

OPN /&H Kk ;I & 6/ 4 29. 52 9#% ( 0.66)
OPN #HEFEZ AT AbEIE K K2 5/ 4 30. 42 8#k ( 0.74)
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